
105

Unit : mm

925

Air in

Air out

51

101

117

132

Installation plate

Piping

Drain hose

905

61 704

60 18

160

39

17 7

10
0

19
3

5625

10

MSZ-FH25VE  MSZ-FH35VE  MSZ-FH50VE

INDOOR UNIT

External Dimensions

60

19
3

18

885

875 5

678 158

29
9

59

7 
or

 m
or

e

In
 c

as
e 

of
 le

ft,
le

ft 
ba

ck
,o

r
le

ft 
un

de
r p

ip
in

g
(u

si
ng

 s
pa

ce
r)

,
11

1 
or

 m
or

e.

57
 o

r m
or

e

35 or more35 or more

(80°)

7
10

0

110

94

47

58

Air out

Installation
plate

Piping

Drain hose

Air in

MSZ-SF25VE  MSZ-SF35VE  MSZ-SF42VE  MSZ-SF50VE

INDOOR UNIT INDOOR UNIT

MSZ-GF60VE   MSZ-GF71VE

INDOOR UNIT

MSZ-EF18VE2(W)(B)(S)  MSZ-EF22VE2(W)(B)(S)
MSZ-EF25VE2(W)(B)(S)  MSZ-EF35VE2(W)(B)(S)
MSZ-EF42VE2(W)(B)(S)  MSZ-EF50VE2(W)(B)(S)

1090 5
1100

76 843 181

60

19
3

18

65

67

32
5

310
0

125
160

( 70∞)

238

5

184

12

Air out

Piping

Drain hose

Air in

Installation plate

58

92

47

108.5

10
0

7

( )80

60

19
3

18

29
9

577 16061

798

778 10

Installation plate

Piping

Drain hose

Air out

Air in



106

Unit : mm

MSZ-SF15VA  MSZ-SF20VA

INDOOR UNIT

760
740 10

5168

56 505 179

25
0

8

110
41 56

Installation plate
Piping

Drain hose

Air out

60

19
3

18

MSZ-HJ25VA  MSZ-HJ35VA  MSZ-HJ50VA

INDOOR UNIT

INDOOR UNIT

MFZ-KJ25VE  MFZ-KJ35VE  MFZ-KJ50VE

799

785 7

29
0

12063049

57
42

7

103

130

10
0

(57°)

172

14

14
0

57 18

46

Air in

Installation plate

Piping

Drain hose

Air out

 

730

N
o 

ob
st

ru
ct

io
n

 Le
ss

 th
an

 
15

0m
m

More than 
100mm

More than 
100mm

60
0

750

47 47656

47 47656

 

Sensor hole

Air in

Liquid pipe
ø6.35 (flared) 1/4

Gas pipe
25/35: ø9.52 (flared) 3/8
50: ø12.7 (flared) 1/2

Drain

Air out

60

70
28

60
30

15

15

131
153

148

215

12

104

12
7

12
5 16
5 30

3
20

5

26

Remote controller
19

19
3

60



107

Unit : mm

INDOOR UNIT

MLZ-KA25VA   MLZ-KA35VA   MLZ-KA50VA

Center of ceiling opening, suspension bolt pitch
 and grille are located in one position.

Hole position for the
installation of grille

Electrical box

1051 Suspension bolt pitch

Air outlet

Wireless
remote controller

Grille (MLP-440W)

Electrical box

Receiving section

Drain pipe

Display and 
receiving section

Ceiling
surface

Liquid pipe
Gas pipe 

Drain hose 

Pipe cover

Drain panOutlet opening area

Drain hose 
connecting part

Pipe
cover

30
8

Su
sp

en
sio

n 
bo

lt 
pi

tc
h

Drain hose

No gaps between 
the ceiling surface and grille

R66

CL

CL

0.04m2

13.549.7

1616

26
26

58
23

0

2

2

960 78

360

110

170

244

17
5

11
2

11
6

11
0

602548

58

(5
1.

6)
18

0

1102

1200

41
4

34

15

58 18

158

R6

31

100

46
6.

5

46
6.

5

166.5

0

172.4

81.8

173
166.5

Center of ceiling opening, 
suspension bolt pitch and grille 
are located in one position.

Air outlet

Ceiling surface Ceiling surface

Suspension bolt M10

Grille

41
4 

O
ut

er
 s

id
e 

of
 g

ril
le

38
4 

C
ei

lin
g 

op
en

in
g

30
8 

Su
sp

en
sio

n 
bo

lt p
itc

h
38

38

17
5

18
0 

or
 m

or
e

54.51051 Suspension bolt pitch

1160 Ceiling opening

1200 Outer side of grille

Outlet

2020

54.5

15
15

(Top)

(Front)
(Right side)

(Top)

(Front)



108

Unit : mm

MUZ-HJ25VA  MUZ-HJ35VA

OUTDOOR UNIT

MUZ-FH50VE MUZ-FH50VEHZ

MUZ-EF50VE

MUZ-SF50VE MUZ-SF50VEH

MUZ-GF60VE MUZ-GF71VE

MUFZ-KJ50VE MUFZ-KJ50VEHZ

OUTDOOR UNIT

10

69

800

302.5

500 Bolt pitch for installation

150

22.3

Handle

55
0

28
0

16
4.

5
99

.5 170.5

23
Service panel

Service port

28
5

34
4.

5 44

400
Air in

Air out

Air in

17
.5

Bo
lt 

pi
tc

h 
fo

r
in

st
al

la
tio

n
30

4-
32

5

40

Liquid refrigerant
pipe joint
Refrigerant pipe
(flared) ø6.35

Gas refrigerant
pipe joint
Refrigerant pipe
(flared) ø9.52

4335
2 holes 10    21

Drain hole ø42

MUZ-FH25VE MUZ-FH35VE

MUZ-FH25VEHZ

MUZ-EF25VE

MUZ-EF35VE

MUZ-EF25VEH

MUZ-EF35VEH

MUZ-EF42VE

MUZ-FH35VEHZ

MUZ-SF25VE MUZ-SF25VEH MUZ-SF35VE

MUZ-SF35VEH

MUZ-HJ50VA

MUFZ-KJ25VE

MUFZ-KJ25VEHZ

MUFZ-KJ35VE

MUFZ-KJ35VEHZ

MUZ-SF42VE MUZ-SF42VEH

OUTDOOR UNIT

417.5

40
42Drain hole

175 500

33
0 50

Air in

Air out
2-holes 10   21

36
0

840
109

81

88
0

45
2

Service panel

99
.5

16
4.

5

195

35

44

Liquid refrigerant
pipe joint
Refrigerant pipe
(flared) ø6.35 

Gas refrigerant
pipe joint
Refrigerant pipe
(flared) ø12.7 

41
.5

27
0.

3

15
7.

7

43°40°

10
2.

7

13
.5

53
8

Air in

Air in

Air out
349.5

55.7

121.4

249
17.9

699
500121

259

B
ol

t p
itc

h 
fo

r
in

st
al

la
tio

n
29

4~
26

7

28
5

19
.6

Liquid refrigerant pipe joint
Refrigerant pipe (flared) ø6.35

Gas refrigerant pipe joint
Refrigerant pipe (flared) ø9.52

Drain hole ø33

2-10.3×19.3 Oval hole



109

Unit : mm

SLZ-KA25VAQ2  SLZ-KA35VAQ  SLZ-KA50VAQ
SLZ-KA25VAL2 SLZ-KA35VAL SLZ-KA50VAL

(Wired remote controller)
Terminal block

Terminal block

87

Suspension bolt
 M10 or 3/8
(purchace locally)

Refrigerent pipe (liquid)

15~37 15~37576~620

570

530

Grille

Fresh-air
intake

Drain pipe

650

S
us

pe
ns

io
n 

bo
lt

lo
w

er
 e

dg
e

230

18
2

48

Wiring entry

Ceiling surface

23
5

20
8

27
+5 0

19
3

20

93
38

~5
8

66
12

1

17 202

5657

31

C
ei

lin
g 

ho
le

S
us

pe
ns

io
n 

bo
lt 

pi
tc

h

15
~3

7
15

~3
7

57
6~

62
0

65
0 42

0

57
0

33
5

199
352
335

Suspension bolt
         pitch

Ceiling hole

SEZ-KD25VAQ SEZ-KD35VAQ SEZ-KD50VAQ SEZ-KD60VAQ SEZ-KD71VAQ
SEZ-KD25VAL SEZ-KD35VAL SEZ-KD50VAL SEZ-KD60VAL SEZ-KD71VAL

24

20

16

900

700

500

9

7

5

1060

860

660
LJH K

SEZ-KD71VAL/VAQ
SEZ-KD60VAL/VAQ
SEZ-KD50VAL/VAQ
SEZ-KD35VAL/VAQ

700 752 798 660 7 600 800

1198

998

AModel
SEZ-KD25VAL/VAQ

1152

952

B

1100

900

C

1060

860

D

11

9

E

1000

800

F

1200

1000

G

Notes:
1. Use M10 bolts for suspension (purchase locally).
2. Keep service space for maintenance at the bottom.
3. This chart is based on the SEZ-KD50VAL/VAQ, which has three fans.

SEZ-KD25, 35VAL/VAQ has two fans, and SEZ-KD60, 71VAL/VAQ has four fans.
4. If an inlet duct is used, remove the air filter supplied with the unit,

and install a locally purchased filter on the suction side.

Air
outlet

Air
inlet

Terminal block
(Remote controller transmission line)

 Drain pipe(Spontaneous draining)

Refrigerant piping
flare connection (gas)

Refrigerant piping
flare connection (liquid)

Terminal block
(Indoor/outdoor connecting line)

Suspension bolt hole

4-14X30 Slot

Air filter

Control box

2XE- 2.9

2X2- 2.9

L- 2.9

Knockout hole 27
(Indoor/outdoor connecting line)

Knockout hole 27
(Remote controller transmission line)

10

17
0

57

15

20

10
0

10
0X

(E
-1

)=
F

30
D

 (D
uc

t)

625 (Suspension bolt pitch) 90
A

23
B

 (S
us

pe
ns

io
n 

bo
lt 

pi
tc

h)
C

23 677
700

25
10

0
23

15
0

(D
uc

t)

116 70

270

10
2

25

49

10

88
10

0
10

0X
J=

K
88

12

12 37 100

20 157.5

20
H

20
0

37

INDOOR UNIT

INDOOR UNIT

Refrigerent pipe (gas)



110

Unit : mm
10

69

800

302.5

500 Bolt pitch for installation

150

22.3

Handle

55
0

28
0

16
4.

5
99

.5 170.5

23
Service panel

Service port

28
5

34
4.

5 44

400
Air in

Air out

Air in
17

.5

B
ol

t p
itc

h 
fo

r
in

st
al

la
tio

n
30

4~
32

5

40

Liquid refrigerant pipe joint
Refrigerant pipe (flared) 

Gas refrigerant pipe joint
Refrigerant pipe (flared) 

4335

2 holes 10X21

Drain hole 

SUZ-KA25VA4 SUZ-KA35VA4

OUTDOOR UNIT

SUZ-KA50VA4  SUZ-KA60VA4  SUZ-KA71VA4

OUTDOOR UNIT

417.5

40
42Drain hole

175 500

33
0 50

Air in

Air out
2-holes 10   21

36
0

840
109

81

88
0

45
2

Service panel

99
.5

16
4.

5

195

35

44

Liquid refrigerant
pipe joint
Refrigerant pipe
(flared) 

Gas refrigerant
pipe joint
Refrigerant pipe
(flared) 



111

Unit : mm

Ceiling hole

Branch duct hole

Indoor unit/Outdoor 
unit connecting 
terminal block
 
Indoor power supply
terminal block(optional part)

Branch duct hole

Fresh air 
intake hole

Ce
ilin

g h
ole

Su
sp

en
sio

n b
olt

 pi
tch

Suspension bolt pitch

Remote controller 
terminal block

(7.
5)

(7.
5)

60
5 62
0

160

160

16
0

84
0

15
0

90 C D

840
187.5

20~45 860~910 20~45

810

20
~4

5
86

0~
91

0
20

~4
5

24 16
0

95
0

Cut out hole

Cut out hole
Burring hole pitch Burring hole

175

16
7

13
0

10
0

70

15
5

350

90 100 100 90

Detail connecting of branch duct

14- 2.8
150

37728460 Drain pipe

Ceiling

Grille

Power supply wire,
Indoor unit/Outdoor unit 
connecting wire entryControl wire entry

Keep approximately 
10 to 15mm space
between unit ceiling 
and ceiling slab.

Suspension bolt 
M10 or W3/8

A
17

 +5  0

B
35

19
0

15
6

10
5

14
0

50
~7

0Suspension bolt 
lower edge

17
0

Models BA C D E

241 258

80

87

74 400

298 85 77
440281

PLA-RP35/50BA

PLA-RP60BA

PLA-RP71BA

PLA-RP35BA PLA-RP50BA  PLA-RP60BA  PLA-RP71BA
PLA-RP100BA PLA-RP125BA PLA-RP140BA2
PLA-ZRP35BA PLA-ZRP50BA PLA-ZRP60BA PLA-ZRP71BA
PLA-ZRP100BA  PLA-ZRP125BA  PLA-ZRP140BA

INDOOR UNIT

950

Refrigerant pipe

Refrigerant pipe

Air outlet

Air intake

84
88

19
5 23
0

57
25

4
47

6
68

0

182 85
878

960 22
853

When drain socket 
is installed

233

5
10

51

246 (Drainage)

(gas
(liquid184

203

PCA-RP35KAQ  PCA-RP50KAQ

INDOOR UNIT

( (

(
(

PKA-RP60KAL  PKA-RP71KAL  PKA-RP100KAL

INDOOR UNIT

65
.2

423.7

1170

431.7

11
14

0.
3

36
5

5295

Top side

Front side

Mounting board

Right side

74 (855) 241

PKA-RP35HAL   PKA-RP50HAL

INDOOR UNIT

19
7

387 192

599

Top side

Front side

155688

898

55

29
5

Right side

Mounting board

249 5

(liquid)

(gas)

PLA-RP100,125BA
PLA-RP140BA2

Models BA C D E
PLA-ZRP35BA
PLA-ZRP50BA
PLA-ZRP60BA
PLA-ZRP71BA
PLA-ZRP100BA
PLA-ZRP125BA
PLA-ZRP140BA

241

281

258

298

74

77

400

440

80

87

85



112

Unit : mm

INDOOR UNIT

When drain socket 
is installed
(Drainage)

((

PCA-RP100KAQ   PCA-RP125KAQ   PCA-RP140KAQ

233

5
10

51

246

180
200

23
6

84
88

19
5 23
0

57
25

4
47

6
68

0

182 85
1518

1600 22
1493

Air outlet

Air intake

(gas)
(liquid)

PCA-RP60KAQ   PCA-RP71KAQ

INDOOR UNIT

Air intake

Air outlet
84

88
19

5 23
0

57
25

4
47

6
68

0

182 85
1198

1280 22
1173

When drain socket 
is installed

233

5
10

51

246

A
B

23
6

(Drainage)

(gas)
(liquid)

A
B

60
179
203

71
180
200

((

PSA-RP71KA  PSA-RP100KA  PSA-RP125KA  PSA-RP140KA

INDOOR UNIT

PCA-RP71HAQ

INDOOR UNIT

<Suspension bolt pitch>

<Flexible hose(accessory)>

Terminal block box

Inspection port
    (pipe sensor)

<A
ir 

ou
tle

t>

<Suspension bolt pitch>

<Air outlet>

2

1

3

Flexible hose(accessory)    Drainage pipe connection

Refrigerant pipe connection(gas pipe side/flared connection)

Electrical box

<g
as

>
<l

iq
ui

d>

Refrigerant pipe connection(liquid pipe side/flared connection)

Suspension bolt
1224

1180

75

1136

986

70

24
3

25
4

17
5

19
711
0

21

130 15

11
0

10
2

320 80

75

70
~9

0

650

13

289

75
28

0

495

43

29
5

260
240

Knockout hole for wiring 27
(Provided on both sides)Knockout hole for refrigerant and drainage

90×60 oval (Provided on both sides)

Controller

Metal fixture
against overturning

Knockout hole
for branch duct

Front side

Rear side
240

1038
38

1511
1

11
5

70
260

600

50

360

310

10

125
340

13
0

13
2

10
0

370

40

520

40
10

20

129 71

13
0

14
0

26
0

82
0

19
00

59
9

18
1

83
4

524

30



113

Unit : mm
PEAD-RP35JAQ  PEAD-RP50JAQ  PEAD-RP60JAQ  PEAD-RP71JAQ
PEAD-RP100JAQ  PEAD-RP125JAQ  PEAD-RP140JAQ

INDOOR UNIT

Model

PEAD-RP140JAQ
PEAD-RP100,125JAQ
PEAD-RP60,71JAQ

PEAD-RP35,50JAQ

A
900

1100
1400
1600

954
B

1154
1454
1654

860
D

1060
1360
1560

9
E

11
14
16

1200

C

1500
1700

1000

1500
1300
1000

F
800

Suspension bolt hole
 4-14x30 Slot

Air
outlet

Air
inlet

2xE-   2.9

40

15

58 57
10

10
0

10
0x

(E
-1

)=
F

A

B
(S

us
pe

ns
io

n 
bo

lt 
pi

tc
h)

C

23

30
57

20
D

 (D
uc

t)

2   2-   2.9

Refrigerant piping
Flare connection (liquid)

Refrigerant piping
Flare connection (gas)

Drain pump

Control box

 Terminal block
(Indoor/Outdoor
connecting line)

 Terminal block
(Remote controller
transmission line)

Drain pipe
(Spontaneous draining)

Drain pipe
(O.D.   32)

25
0

12
2

33

4023 10
238

32 700
732

136 67
356

10
0

41
21

7

643(Suspension bolt pitch)

17
8(

D
uc

t)

PEAD-RP35JALQ PEAD-RP50JALQ PEAD-RP60JALQ
PEAD-RP71JALQ PEAD-RP100JALQ PEAD-RP125JALQ
PEAD-RP140JALQ

INDOOR UNIT

Model

PEAD-RP140JALQ
PEAD-RP100,125JALQ
PEAD-RP60,71JALQ

PEAD-RP35,50JALQ

A

900
1100
1400
1600

954

B

1154
1454
1654

860

D

1060
1360
1560

9

E

11
14
16

1200

C

1500
1700

1000

Suspension bolt hole
 4-14x30 Slot

Air
outlet

Air
inlet

2xE-   2.9
15

24

57
10

10
0

10
0x

(E
-1

)=
F

A

B
(S

us
pe

ns
io

n 
bo

lt 
pi

tc
h)

C

23

30
57

20
D

 (D
uc

t)

Drain pipe

2   2-   2.9

Refrigerant piping
Flare connection (liquid)

Refrigerant piping
Flare connection (gas)

Control box

 Terminal block
(Indoor/Outdoor
connecting line)

Terminal block
(Remote controller
transmission line)

25
0

33
12

2

4023

10

32 700
732

136 67
356

10
0

21
7

643(Suspension bolt pitch)

1500
1300
1000

F

800

17
8(

D
uc

t)



114

Unit : mm

PEA-RP400GAQ   PEA-RP500GAQ

INDOOR UNIT

45

Refrigerant pipe

Refrigerant pipe (gas) 

Return air sensor
(2 places)

Drain

24-  3.1

36- 3 HOLES

Left view Front view

Top view

Return air Supply air

4- 15
<For hanging bolt M12>
[Field supply]

Return-air
duct flange

Control box

Fresh-air intake
duct flange

 A 

Rubber bushing 
<Remote controller wiring>

Rubber bushing 
<Power supply wiring>

Rubber bushing 
<Outdoor unit connection wiring>

A

<Accessory>
Pipe cover...................4pcs.
(For dew condensation prevention of local piping and unit connection)
Remote controller.......1pc.

81
11

7
15

6
11

7

10

20 1840

10

4060 60

61

60

4040 1800
188050 664

52
5

22

10
2

22
.5

12
0

4X
12

0(
=4

80
)

22
.5

59
5

1824

50
764

2801125395

34
0

18
8

22

1947

57
0

40
13

0
13

0
40

10

33
29

130
12X130(=1560)29

149 1618

10
0

42.5
130

8X130(=1040)42.5

10

20
3

32
0

14
1

20

42
5

59

70039

Rubber bushing
<Remote
controller wiring>
Rubber bushing
<Outdoor unit
connection wiring>

Rubber bushing
<Power supply
wiring>

 A 

A

4- 12

Drain

Top view

Control box

22- 3.1

<For hanging bolt M10>
[Field supply]

Return air
duct flange

Fresh-air
intake duct
flange

26- 3 Holes

Left view

Supply airReturn air

Front view

Return air
sensor

<Accessory>
Pipe cover....................2pcs.
(For dew condensation prevention of local piping and unit connection)
Remote controller.........1pc.

Refrigerant pipe

Refrigerant pipe

42

14
4

14
5

75

55

70
12

9

124

13
1

50 530

34

130

95
25

0
11

10

66
1302

1484

7x130(=910)
130

45 45

20
020

10
0

20

19
9

40

150046
2

66 9X130(=1170)

10

25
10

0
10

0
25

10 10

1540
40146040

255 205

37
6

1000

1600

73
26

2

40
0

39 565

54
634

35
13

0
89

33
0

22

13
0

35

PEA-RP250GAQ

INDOOR UNIT

PEA-RP200GAQ

INDOOR UNIT

Return air
sensor

A

Rubber bushing <Remote
controller wiring>

Rubber bushing
<Outdoor unit
connection wiring>

Rubber bushing
<Power supply wiring>

 A 
4- 12

Drain

Top view

Control box

Return-air
duct flange

Fresh-air
intake duct
flange <For hanging bolt M10>

[pwehase locally]

22- 3.1

24- 3 Holes

Refrigerant pipe
(liquid)

Refrigerant pipe
(gas)

<Accessory>
Pipe cover....................2pcs.
(For dew condensation prevention of local piping and unit connection)
Remote controller........1pc.

Return air

Left view

Supply air

Front view

75

55

12
9

70

42

124 34

13
1

53050

95
25

0
11

7x130(=910)

10130

130

45 45

31 31
1102

20
0

10

8x130(=1040)

1300 20

19
9

10
0

40

2046
2

14
4

1284

40
0

155 1000 105
40 1260 40

1340
1400

56539

22
33

0
14

5
89

35
13

0
13

0
35

634

26
2

73

10
54
10

37
6

25
10

0
10

0
25

(gas)

(Liquid)

(liquid)



115

Unit : mm
PUHZ-ZRP35VKA  PUHZ-ZRP50VKA

OUTDOOR UNIT

PUHZ-ZRP60VHA  PUHZ-ZRP71VHA

OUTDOOR UNIT

322

950

47
3

94
3

23

44
7

43
1

67
3

2

1

Handle for moving

Handle for moving

Service panel

Earth terminal Left:Power supply wiring
Right : Indoor / Outdoor wiring

Terminal connections

Rear piping cover

Front piping cover

40 54

28
37

0
19

41
7

5357 41

600 175175

33
0

Rear air intake

Air discharge

Side air intake Installation Feet

2 U-shaped notched holes
(Foundation Bolt M10)

2-12  36 oval holes
(foundation bolt M10)

30
PUHZ-SHW80VHA PUHZ-SHW112VHA
PUHZ-SHW112YHA PUHZ-SHW140YHA

OUTDOOR UNIT

...Refrigerant gas pipe connection (flare)

...Refrigerant liquid pipe connection (flare)
 ...Indicates stop valve connection location.

PUHZ-ZRP100VKA  PUHZ-ZRP125VKA  PUHZ-ZRP140VKA
PUHZ-ZRP100YKA  PUHZ-ZRP125YKA  PUHZ-ZRP140YKA

OUTDOOR UNIT

PUHZ-ZRP100~140VKA
PUHZ-ZRP100~140YKA

Model

919
1067

A

...Refrigerant gas pipe connection (flare)

...Refrigerant liquid pipe connection (flare)

...Indicates stop valve connection location.

1
2

Handle for moving

Earth terminal

Service panel

2 1

Handle for moving
Terminal connection

Left...Power supply wiring
Right..Indoor/Outdoor wiring

63
2

45
0

A

36
9

362

26

13
38

1050

44
2

Air intake

Front piping cover
Rear piping cover

Rear air intake

Air discharge

Side air intake

Installation Feet

2 U-shaped notched holes
(Foundation Bolt M10)

2-12   36 Oval holes
(foundation bolt M10)

28
37

0

6030

225225

33
0

600

41
7

19

70 42

40

53

56

0

...Refrigerant gas pipe connection (flare)

...Refrigerant liquid pipe connection (flare)
 ...Indicates stop valve connection location.

Front piping cover

Rear piping cover

Air Discharge

Rear Air Intake

Side Air Intake

600175 175

33
0

41
7

4266
53

5645

 (1
9)

28
37

0

2-U Shaped notched holes
(Foundation Bolt M10)

2-12 x 36 Oval holes
(Foundation Bolt M10)

Installation Feet

30
23

SHW·VHA

SHW·YHA

1079

A

930

Handle for moving

Service panel

A

2

1

1 
 4

43
1 

 4
47

63
5

37
1

13
50

322

950
Handle for moving

Handle
for
moving

Earth terminal Terminal connection
Left ····Power supply wiring
Right··· Indoor/Outdoor wiring

Service port

Connection for
gas pipe

Connection for
liquid pipe
FLARE 6.35 (1/4F) 

FLARE 12.7 (1/2F) 

Service panel
for charge plug

Service panel

Earth terminal

(                                  )Terminal connection
Left Power supply wiring
Right Indoor/Outdoor wiring

Air discharge

Air intake

Air intake

oval hole4-10×21

drain hole42

36
0

33
0

32
.5

30
0

40

404.5

48

Handle for moving

Installation bolt pitch

22.3

63
0

32
0

8.
5

809
500

310

154.5

62



116

Unit : mm
PUHZ-RP200YKA  PUHZ-RP250YKA

OUTDOOR UNIT

PUHZ-RP200YKA
PUHZ-RP250YKA

Model

442
-
B

424
450
A

...Refrigerant gas pipe connection (attached joint)

...Refrigerant liquid pipe connection (flare)
*1...Indicates of stop valve connection location.

1
2

1050

Rear air intake

Air discharge

Side air intake

Installation Feet

2 U-shaped notched holes
(foundation bolt M10)

2-12   36 oval holes
(foundation bolt M10)

28
37

0

6030

225225

33
0

600

41
7

19
70 42

40

53

56

0

63
2

36
9

26

13
38

Handle for moving

Handle for moving

Earth terminal362

Brazing

Service panel

Terminal connections
Left...Power supply wiring
Right...Indoor/Outdoor wiring

98
2

98
6

*1
   

   A
*1

   
   B

34
2

Air intake

2

1

Front piping cover
Rear piping cover

PUHZ-P125VHA3 PUHZ-P140VHA3
PUHZ-P125YHA PUHZ-P140YHA

OUTDOOR UNIT

PUHZ-P100VHA4  PUHZ-P100YHA2

OUTDOOR UNIT

PUHZ-P200YHA3  PUHZ-P250YHA3

OUTDOOR UNIT

41
7

C D

E F

 (1
9)

37
0

2853

175600175

33
0

2-12 x 36 oval holes
(Foundation Bolt M10)

Air Discharge

Rear Air Intake

Side Air Intake

2-U Shaped notched holes
(Foundfation Bolt M10)

Installation Feet

30

···Refrigerant GAS pipe connection (FLARE)
···Refrigerant LIQUID pipe connection (FLARE)

1 ···Indication of STOP VALVE connection location.

Front piping cover

Rear piping cover

23

94
3

47
3

950

322

1 
44

7

1 
 A

B

Terminal Connections
Left···Power supply wiring
Right···Indoor/Outdoor wiring

Earth terminal

Service panel

Handle for moving

Handle for moving

1

2

F
56
54

E
45
41

D
42
41

C
66
56

B
670
589

PUHZ-P100VHA4
PUHZ-P100YHA2

A
443
431

Front piping cover

Rear piping cover

Terminal connection
Left···Power supply wiring
Right···Indoor/Outdoor wiring

Earth terminal

Service panel

Handle for moving

1

2

Air Discharge

Rear Air Intake

Side Air Intake

···Refrigerant GAS pipe connection (FLARE)
···Refrigerant LIQUID pipe connection (FLARE)
 ···Indication of STOP VALVE connection location.

600175 175

33
0

41
7

4156

53
5441

 (1
9)

28
37

0

2-U Shaped notched holes
(Foundation Bolt M10)

2-12 x 36 Oval holes
(Foundation Bolt M10)

Installation Feet

30

13
50

23

950

A

1 
44

7

1 
43

1

37
1

63
5

322Handle for moving

PUHZ-P125/140VHA3
PUHZ-P125/140YHA

A
1076
9941

Front piping cover

Rear piping cover

Terminal connection
Left···Power supply wiring
Right···Indoor/Outdoor wiring

Earth terminal

Service panel

Handle for moving

1

2

Air Discharge

Rear Air Intake

Side Air Intake

···Refrigerant GAS pipe connection (FLARE)
···Refrigerant LIQUID pipe connection (FLARE)
···Indication of STOP VALVE connection location.
···Refrigerant GAS pipe connention(brazed)

600175 175

33
0

41
7

3761 53
5640

 (1
9)

28
37

0

2-U Shaped notched holes
(Foundation Bolt M10)

2-12 x 36 Oval holes
(Foundation Bolt M10)

Installation Feet

30

13
50

23

950

99
5

99
9

1 
43

9

2 
33

9

1 
A

37
1

63
5

322Handle for moving

PUHZ-P200YHA3
PUHZ-P250YHA3

A
447
421

Brazing

1
2



117

Unit : mm

MXZ-2D33VA  MXZ-2D42VA  MXZ-2D53VA  MXZ-2D53VAH

OUTDOOR UNIT

MXZ-4D83VA  MXZ-5D102VA

OUTDOOR UNIT

Liquid pipe : ø6.35(flared)1/4 C unit
connection
B unit
connection

A unit
connection

Gas pipe : ø9.52(flared)3/8
Liquid pipe : ø6.35(flared)1/4
Gas pipe : ø9.52(flared)3/8
Liquid pipe : ø6.35(flared)1/4
Gas pipe : ø9.52(flared)3/8

23

61
2

14
7

40
5

45

Indoor and 
outdoor
connect wiring 
(35×53) hole

Air out

42

200 200500

315

35
5

(B
ol

t p
itc

h)
38

7

40
27 16

16
11

24

Drain hole    42
(Foundation bolt M10)

(Fondation bolt M10)
2-U Shaped notched hole

2-12×36 Oval hole

Air in

Air in

32025 10

88

47
5

317

900

Handle

Handle

91
5

Liquid pipe : Ø6.35(flared)1/4 E unit connection
(MXZ-5D102VA)
D unit connection

C unit connection

B unit connection

Gas pipe : Ø9.52(flared)3/8
Liquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø9.52(flared)3/8
Liquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø9.52(flared)3/8
Liquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø9.52(flared)3/8

A unit connectionLiquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø12.7(flared)1/2

Liquid pipe : Ø6.35(flared)1/4 D unit
connection
C unit
connection
B unit
connection
A unit
connection

Gas pipe : Ø9.52(flared)3/8
Liquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø9.52(flared)3/8
Liquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø9.52(flared)3/8
Liquid pipe : Ø6.35(flared)1/4
Gas pipe : Ø12.7(flared)1/2

25.8
30840

171500

500150

302.510
28

0

55
0

22.3

400

40

2-10×21 Oval hole

17
.5 30

4~
32

5

34
4.

5

Drain hole ø42 (In case of Base heater models ø33)

Air in

Air in

Air out

18 13285

170.4

B unit
connection

A unit
connection

Handle

800 69

25
1.

1

51
51

51

Air in

Air out
Drain hole 3-ø33

207.5 31465.4

169

200

27.1

23.1299

71
0

24
0

17
.7

12
.3

36
0.

6
18

.3
17

.7

16
.6 34

44
0

36
0 31

5
84

45

330 13

66.3
Connecting
Wire Hole
(39×27)

4-10×21 Oval hole
(Foundation bolt M8)

(B
ol

t P
itc

h)
39

6

Liquid pipe: ø6.35 (flared) 1/4
Gas pipe : ø9.52 (flared) 3/8
Liquid pipe: ø6.35 (flared) 1/4
Gas pipe : ø9.52 (flared) 3/8

299

840
200

30
25.8 330 13

66.3

36
0

23.1

27.1

24
0

71
0

44
0

22
5

84

45

Connecting
Wire Hole
(39×27)

Drain hole 3-ø33

Air in

Air in

Air out

169

65.4 207.5 314

500 171

4-10×21 Oval hole
(Foundation bolt M8)

(B
ol

t P
itc

h)
39

6

36
0.

6

17
.7

17
.7

18
.3

16
.6 34

12
.3

MXZ-3D54VA2  MXZ-3D68VA

OUTDOOR UNIT

MXZ-4D72VA

OUTDOOR UNIT



118

Unit : mm

Rear piping cover

Front piping cover

Side air intake

Rear air intake

Air discharge

600175 175

33
0

41
7

53
19

28
37

0

37 56

4256

2 U-shaped notched holes
(Foundation Bolt M10)

2-12  x 36 Oval holes
(Foundation Bolt M10)

Installation Feet

30

...Refrigerant gas pipe connection (FLARE)

...Refrigerant liquid pipe connection (FLARE)
      Indicates stop valve connection location

MXZ-6C122VA MXZ-8B140VA   MXZ-8B140YA   
MXZ-8B160VA   MXZ-8B160YA

PAC-AK53BC PAC-AK32BC

Suspension bolt  :  W3/8 (M10) 320

40
2

24

12

95

61 79 50 34

39280

70
35

68

205

19
8 65

39

25 25 25 21

75 75

91
73

200
23

20

C B A

C B A

450

Suspension bolt pitch

S
us

pe
ns

io
n 

bo
lt 

pi
tc

h

3-Electric wire inlet

3-Wire band

Electric coverto outdoor unit

Service panel
(for Lev, thermistor)

Drain pipe connectionFlexible drain hose
(accessory)

to indoor unit

(Foundation Bolt M10)
2-12 x 36 Oval Hole

2-U Shaped Notched Hole
(Foundation Bolt M10)

42 Drain Hole

Side Air Intake

Air
Discharge

Rear Air
Intake

(B
ol

t P
itc

h)

38
7

48

450

27
40

200500200

24
16

35
5

16
11

Handle

LIQ  6.35(1/4")FLARE
GAS 12.7(1/2")FLAREUnit ALIQ

GAS

Unit BLIQ
GAS

Unit CLIQ
GAS

Unit DLIQ
GAS

GAS
LIQ Unit E

LIQ  6.35(1/4")FLARE
GAS 9.52(3/8")FLARE

Unit FLIQ
GAS

532021

70

900

340

10
70

54
8

Connecting
Wire Hole
(36 x 96)

73
0

34

12
5

51
5

45
65

Handle

MXZ-8B140VA/160VA
MXZ-8B140YA/160YA

Model

930
1079

A

Type A

(VP-16)

Type A

OUTDOOR UNIT

Branch box

OUTDOOR UNIT

Branch box

Type B

200

Drain pipe connection
(VP-16)

Flexible drain hose
(accessory)

20

Type B

200

Drain pipe connection
(VP-16)

Flexible drain hose
(accessory)

20

Suspension bolt  :  W3/8 (M10)
Suspension bolt pitch

320

40
2

24
S

us
pe

ns
io

n 
bo

lt 
pi

tc
h

12

95 280 39

61 79 50 34 3-Electric wire inlet

70
35

68

3-Wire band

Electric coverto outdoor unit

Service panel
(for Lev, thermistor)

to indoor unit
55

19
8 65

39

25 25 25 25 25 21

75 75 75 75

E D C B A

E D C B A

91
73

200
23

20

450

Terminal connection
Left....Power supply wiring
Right..Indoor/Outdoor wiringEarth terminal

Handle for moving

Service panel

Handle for moving

2

1

A

50
7

42
3

950
322

13
50

63
5

37
1

( )

23

Flexible drain hose
(accessory)

Drain pipe connection
(VP-16)


	Split Type Air-conditioners 2014_105.pdf
	Split Type Air-conditioners 2014_106.pdf
	Split Type Air-conditioners 2014_107.pdf
	Split Type Air-conditioners 2014_108.pdf
	Split Type Air-conditioners 2014_109.pdf
	Split Type Air-conditioners 2014_110.pdf
	Split Type Air-conditioners 2014_111.pdf
	Split Type Air-conditioners 2014_112.pdf
	Split Type Air-conditioners 2014_113.pdf
	Split Type Air-conditioners 2014_114.pdf
	Split Type Air-conditioners 2014_115.pdf
	Split Type Air-conditioners 2014_116.pdf
	Split Type Air-conditioners 2014_117.pdf
	Split Type Air-conditioners 2014_118.pdf

